GO YOUR OWr1 WAY



JOIrY BUHTS

Jonny Honda 2.3 HP Motor Kit Instruction Manual

/b







Jonny Honda 2.3 HP Motor Kit Part Lists

No. | Part number Description Qty.

I 64074 Outboard transom plate | set
2 64053 Screw TH M6x20 2 Pcs.
3 64066 Screw JT Méx10 2 Pcs.
4 64077 Jonny honda 2.3 HP T-Bar | Pcs.
5 50150 Socket cap screw Mé6x35 2 Pcs.
6 NA Outboard extension set | Set
7 6407 | Screw TH M5x15 2 Pcs.
8 NA Cable tube set | Set
9 62080 Wire cable 2 Pcs.
10 64006 Screw JF M4x25 2 Pcs.
I NA Top cap para set | Set
12 47240 Cable stop | Pcs.
13 64038 Screw FH M4x20 (Black) 2 Pcs.
14 NA Outboard steering pivot point set | Set
I5 NA Motor tiller set | Set




Jonny Honda 2.3 HP Motor Kit Instruction Manual

I Install the transom plate with the boat.

2 | Tighten the JT M6x10 screw with the

plate.

(3) Screw JT Méx10

3 | Tighten the TH M6x20 screw with the
plate.

s —
=

=
gy,

—

==

@) Screw TH Méx 10

4 Install the Outboard with the transom

5 | Remove 2 bolts from the outboard.

6 Install the Honda 2.3 HP T-bar with the

outboard replace with socket cap screw
Méx35.

y | b1 -
== LI
o .

.'.l = __
l

@ Socket cap screw M6x35




Jonny Honda 2.3 HP Motor Kit Instruction Manual

7 | Install the cable tube into the tube holders 8 | Install the cable stop and the cable tube,
on the transom plate. into the boat.

(13) Screw FH M4x20

9 Install the top cap para set. | 0 Install the motor tiller pivot point.
= %
E E f'/_-h\\\
- /; @ \'\
e LB O fl
Pl e, S
e [ N
T
Top view
)
25 Screw JF Mdx25 Screw |T M6x20
| || Install the motor tiller set. | 2| Insert the wire cable into the cable tube.

Screw JP M5x30




Y SRS

Jonny Honda 2.3 HP Motor Kit Instruction Manual

|3

Insert the wire cable through the cable
lock nut and tighten the grub screw.

14

Insert the wire cable through the cable
lock nut at the motor tiller set.

——
Note | Pull cables so there is no slack.

|6

Tighten the grub screw at the motor
tiller set.

Cut the wire cable and install the cable
end cap.




Jonny Honda 2.3 HP Motor Kit Instruction Manual

22

Install the extension set with the handle.

23

Tighten with the screws TH M5xI5 to
just nip rubber tiller grip.

(@) screw TH MsxI5




EASS I

HONDA OUTBOARD MOTOR KIT

Congratulations on the purchase of your Jonny Boats Bass 100 and the Honda
Outboard Motor Kit. For detailed installation instructions, scan the
QR code below or visit www.vimeo.com/341420682

LO0OA7S

— 5T TS  —

TN 7?57 BOR7 S . L0077




